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for the questions
Paper : GE-3 A
( Indian Economy )

1. o/ PR Teq fop 1x8=8

Answer the following questions :

(@) FRFcns &2

What is disinvestment?

(b) TIREIHT O AR “Afivm @=E Wiy
fofes oo (2R 9
Which model was adopted to prepare the
Second Five-Year Plan in India?
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()

(e)

()

(h

(2)

aePiIe4ip “tole T 32
What 15
dividend?

meant by demographic
letd Tafllel oRRP AT T TJECH! o |

Write the new formula of calculating
Human Development Index (HDI).

MY wfdger spe (49
What is Multidimensional Poverty Index
(MPI)?

wReer 1ol o[ & 2
What are the two types of poverty?

‘Four Asian Tigers’ o 3% @RI =7
Who are called ‘Four Asian Tigers’?

IMF 3 35 <11 foret |
Write the full form of IMF.

2. o i @ oRER e e by G frar (efeh

deo =3 foege) :

4x4=16

Write short notes on any four of the following
(within 150 words each) :

(@)

(b)

P23/202

S dfSwom

Import substitution

RICEACHEC I oK)

Human Development Index

( Continued )

(c)

(d)

(e)

(3)

I S1F ST
Growth and Inequality

wREeR NI

Poverty line

I S SRS W franoF SRR wom

Comparison of the rank of India and
Singapore in trade

T 2APTYRA BT fo1d1 (26D @ o0 *e foee)

Answer the following questions (within 500 words

each) :

3. (a)

(b)

P23/202

TS A AfITEan RS Sowrz &

& wnfest 2 weamean 41 4 14
What are the overall objectives of India’s
Five-Year Planning? Discuss.

<1/ Or

355 i AT oFs W AR o
PR o | 14

Write the advantages and disadvantages
of Economic Reforms of 1991.

I TR HE [PR W ora & q@m 2 sRes
TN [ AE TR TR SRR R o
SCEATAT F 41 | 2+2+10=14
What do you mean by death rate and

birthrate? Discuss briefly the trends of
birthrate and death rate in India.

( Turn Over )



(b)

(b)

(b)

P23/202

(4)

W< / Or
Tqed HYAfeS PR w@m ASq
STCEASAT 4T 14

Discuss the impact of growth of
population on Indian economy.

TRweR @ 57 ©SRed wRuel SR
FRPTYZ I 0 | 2+12=14

What is incidence of poverty? Explain the
causes of poverty in India.

211/ Or

SROT A (ISR PR W o4Ffs 3o
SICEToT 941 14

Discuss about the magnitude
nature of income inequality in India.

and

SRS SF AR (IR wifeT gemger
AT A 14
Comparatively analyze the economy of
India and South Korea.

YN/ Or

O[S HF UMY HDI ¥Iq P 11 BIRAA
AT THEE A AT SR
RUsHIES N 2+12=14

Compare the HDI rank of India and
Taiwan. Explain the measures taken by
Taiwan for economic development.

( Continued )

1. S faraes fAosmRE Tee o

(S)

Paper : GE-3 B

( Money and Financial Markets )

1x8=8

Answer the following as directed :

(@)

(b)

P23/202

fBae 2esem® cam (9p. @i, £1.) e
FOR 58 =4{{FS 9

Systematic Investment Plan (SIP) is
related to

() T we
mutual fund
(i) SROF Qg A P
LIC
(iti) AT @
commercial bank
(iv) TR AW S|
post office savings scheme

(% Teqchl 1o Sfersar )

( Choose the correct answer )

2’ 9 IWHE GF AR 378 w9 29
faor = W R wEEEe wRn oo

w_Gw_iﬂ q 1

. GIGRIER LRSS
is a situation in the bond market
when the rate of interest falls to its
lowest level and speculative demand for
money becomes perfectly elastic.

( Fill in the blank )
( Turn Over )




(c)

(@)

(e)

0

(9)

P23/202

(6)

 ®F 3 R TR el o
AP Wwe ¥ R A Rivws gy
f2oreer o1z 391 CER

| (AR RIF)

is the money which is accepted as
a medium of exchange because of the
trust between the payer and the payee.

( Fill in the blank)

TR SIS 8w TueR WER bl
Tz o o

Give one example of non-banking
financial intermediaries in India.

27 SReN oA TwNd uEe |
(<R 32 R )

is the regulatory body for the
capital market in India.

( Fill in the blank )
‘Sensex’¥ Mﬂ%« F0! 52

What is the full form of ‘Sensex’?

sRee fiEh’ @fem s (2fe 2
When did ‘Nifty’ start in India?

(i) 553 (i) S>sv
1992 1998
(fii) S55% (iv) 5558
1996 1994
(0% TaTcor (s Sfetear )

( Choose the correct answer )

( Continued )

(7))

(h) IS 41 R I IRW IQ@ TN AR
A (PO AMCH A2 IR ?

Which of the following is a step that the
Central Bank will take to increase the
overall availability of credit in the market?

(i) RN AT IR HeI Bl WS
& ]

It will sell the government securities
in the open market

(i) FTT ATF HIFR WG JI T
o & (9
It will buy the government securities
from the open market

(i) TR @ R @1 @5 3% IR

It will increase reverse repo rate

(iv) T RTE @ @ I IR

It will raise the repo rate

(m Tach A1fo Sferean )

( Choose the correct answer )

2. Y Ol e 4x4=16

Write short notes on :

(@) AR @3 IR

Functions of commercial bank

(b) TH-FISI=AT I
High-powered money
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(8) (9)

(c) RE ™ 5. B¢ Wb Wea 2 8 WG wried) scEmwn 41 |
Financial institution 3+8=11
What is stock market? Discuss the functions
(d) B TIPS of stock market.
Stock market index %<1 / Or
N7 R O] O A0 !
3. W IR QX2 JUR FREE 36 90 4+8=12 i PR AT ° I B
. ACHD SHFRFT GFY SIS 57 | 7+4=11
Define money. Discuss the functions of

Discuss the methodology for calculating stock
market index. Discuss the importance of
<1 / Or stock market index.

TR QR CFe Ol [RErs @0 S@ers- a9
(S SCEABAN F91 | W @AM (TR AT 74

money.

6. i 2TFA W AT AR OGB! SIS 397 |
A BT N BT Temy 7901 8+3=11

TT© AOW T 7 8+4=12 Discuss the expectation theory of term
Discuss RBI’s approach to supply of money. structure of interest rate. Mention the sources
How does money supply influence the general of interest rate differentials.
price level? 54T / Or
4. ST {8 197 19 KAy weew-n 41 | 11 e Afe o [ 3o 2 3 2R oRen A wgch
Discuss the financial sector reform in India. RIS SN 2+9=11
What is liquidity preference? Discuss the
S/ Or liquidity preference theory of interest rate.
COret forer 5Y%a+5%=11
Write notes of - 7. SROE @ TS Tow Scam w4 | ST quE
@l g sfRaE (i $6owr B & e
(a) FrIE e TEm AR I, S 34| 5+6=11
Primary market of securities Discuss the objective of monetary policy in

India. What are the instruments used by
monetary authority to exercise control over
money supply in the economy?

(b} TINIY M IHR
Secondary market of securities

P23/202 ( Continued ) P23/202 { Turn Over )



(10 )

52{1 / Or

Sed RO w1 NS e A= F0 10 11

Discuss the current monetary policy of India.

Paper : GE-3 C

( Environmental Economics )

1. oo TR FotrEm Ted foer 1x8=8

Answer the following as directed :

(@) RS gq 2R 9B

P23/202

Environmental quality is a

() I T
public good

(ii) IETS TY
private good
(iti) TR @
common property resource

(iv) 8°9 GbIe 7=

None of the above

(% Teor 1o Sferean )

( Choose the correct answer )

( Continued )

P23/202

(11

(b) TR TESHS WHDGAT HEl 7A

The condition for optimum allocation of
resource is

(i) afe Iwfes aw > afee TR s

MSC > MSB

(i) =S ST I = AfRF AR o
MSC = MSB

(iti) AfeF TR | < ARF ANEFF e
MSC < MSB

(iv) 8*{Y 9BI8 I
None of the above
(7 Teach! AfS Tferea )

( Choose the correct answer )

(c) SLIRER =oE @B IR fera o

Mention one characteristic of common
property resource.

(d) R SRR TS S I3 7=
SAFR o T ARG HSRCGRT NS -
T AW {2 |

Name the economist who advocated
the assignment of property rights
for efficient solution of environmental
pollution.

(e) IR I (2

What is carbon trading?
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0

(9)

(h)

(12 )

HPRoFICA 3B @B CTSEaz (o=d 714 {141 |

Name one naturally generated greenhouse
gas.

' B WY A 7 TR 9 A7 AN
fer4n 1

Mention one man-made pollutant
responsible for ozone layer depletion.

oS - BfFpe ITTFAOR (S G_ENOR Wl
AigRzel BEy 90 |
Mention one limitation of Pearce-

Atkinson approach of measuring
sustainability.

2. wore Pz B @ oiReR eoms 5 G forn

(4fSCh vao =7 foov9) -

Write short notes on any four of the following
(within 150 words each) :

(a)

(b)

(c)

(@)

P23/202

TS e

Common property resources

IHR fReeroN @n&q@ﬂ

Sources of market failure

“ffac SLAST TFPR
Objectives of environmental economics

Sustainable development

{ Continued )

5x4=20

(13 )

le) fdfefofelfas yau e &S

Contingent valuation method

(H S I R_EEE

Joint Forest Management

ST 2PPTER T el (2ifSch1 @ o 0 e foegre) -

Answer the following questions (within 500 words
each) :

3. (@) IR fea & o2 wNS WE Ywd
Arel Tegcs fefE Tmzed fan 1 e
RCFE ALt el @ wEEEead
R A4, SCEs 40 2+3+8=13
What are externalities? Give three
examples each of positive and negative
externalities. How can externalities
be internalized through government
intervention? Explain.

H<q / Or

(b) ¥'w oG SRR & & 2 ape afedmms
oS e SRFR o T TGS I AT
TR TS (A PHOMER Felreal +7 =i,
qo1 foq9 ST2e 39T a1 3+10=13
What are the assumptions of Coase
theorem? Explain with a diagram, how
bargaining between two parties will
ultimately generate an efficient outcome

even if property right is assigned to the
polluting firm.
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(b)

5. (a)

P23/202

(14 )

aEd W e @Iefefes g Sqms
RS AT TR SwaAfgere i 2o
foaq SgS [/ T ISR (PFEHO
@O RS 4T Gl ? 6+6+1=13

Explain with diagram, the emission fee
and tradable pollution permit as the two
incentive-based solutions to the environ-
mental problem. Which method is more
familiar in the contemporary world?

5T/ Or
e [MUEEE Smes  AIfReR TR
FAPAPR TR F90 - 5+4+4=13

Explain the global environmental
concern with special reference to the
following :

(i) I93 RIS
Climate change

(f) & TR ATHY
Ozone layer depletion

(i) TASE TES
Global warming

R T gcsamel &0 sy
T &fSTqZ S 47 | 3+10=13

What is the need for environmental
valuation? Discuss the methods of
environmental valuation.

( Continued )

(15 )

&4l / Or

collda v e vmfee fduca “fdca iy vqi4
JoEd e SAcel f4a A, e ea @2
oafeq Hfdar S PYfdAPR WAl 4l |
7+6=13

Explain how the hedonic pricing method

can be used for valuation of an environ
mental good. Discuss the advantages
and disadvantages of this method.

TPy T f4fen qRApEEa STHICAm-TYS
AL 41 13

Critically discuss different concepts of
sustainable development.

w1/ Or

“feial o ydel Izrwel et & o,
39| ST T W T2 T (S
fam ez, gfel PR O[T 2 (ONR T AT
e fumn | 6+7=13
Explain the meaning of strong and weak
sustainability. Do you think that there
are conflicts between economic growth

and sustainable development? Give
reasons for your answer.

Yk ke
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